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ADVANCE HINDI

Full Marks: 100

Pass Marks : 30

Time: 3 hours

The figures in the margin indicate full marks for the questions

Allotment of Marks

Q. No. 1 carries 1 mark each

Q. No. 2 carries 2 marks each

Q. No. 3 carries 4 marks each

Q. No. 4 CEtrries 6 marks each

Q. No. 5 carries 10 marks each

1x12

2x12

4x 8

6x 2

IQx 2

12

24

32

12

20

Total = 100
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( 2 )

(^) ^ ̂  ?IRIT % 3lfrrf^ sf^ f ?

(^) ̂j?Rr % "3? ̂  ̂ w sn?,

(■^) w ̂  "in ^ w «tT?

(^) ^ %%II|

(^) "tR -Sf^ -f^ ^ ̂  ̂  |7

(^) ^ 1»T % I?

(?5) ^ 'tj^' ^ ^ 4Hv\^ f ?

(^) tr' ^ % ^5?Ffte ^ f ?

(?r) ^ScRT? %ET -g^ ^ I?

(^) ^ ^ Hm w t?

(z) 31^ ^ Trg^a ^r^ttM ^ ̂  1^ %?

(3) 1^ ̂  ̂  ̂  aifi^ ^7

( 3 )

1x12=12 2. Rnfclfi^d 3R^ % 33^ :

ia^s—^

( iR-QTS11W 3?re 3RTif % 3^ )

2x12=24

2x8=16

(^) % 41% ^ 34t" % 41«I4 t chaflww W f?

(^) ««iiei6b ^ "RraOT 4S%ST % '*R 4 %4t 34^eii«ii sft?

(t) -er ^ TR 4 T!a% ^ ̂  ̂  ̂  ̂  f ?

(^) M cfH% ^ ̂  9TRi" % ^tmzPT % ^s;4k %h% ^ sik
I^TRT ^ t?

(^) 3^ % ■g'l ^ %^34R 'Rikrr ^ yi^I^^ii %4t ||?

(^) 'tir ^ Ti4t ^ 3ifi4t ^ ̂  f?

(^) krat ^r% Tikt 4% ir ̂  ̂ >«R ^ 3ft^ ^ ^
^ I?

(^) ^ «ftt 1^ % i%qi% 4iT #TT ^ ̂n?kt RR% t? ^
<i'i<=hl '^TT cl4) ^?

(^) 3"^ ^ <flPl cTt^ (^<9i<<, ^I^ci ^ t1%4t" "21? gisr "4
cfNi ^<a«M -ctl^n T? «nclT %?

(^) ®rT?W ^ ̂  W 3% t?

(3) VR 4 W-W ^ T?% f ?

(3) 41fll "% illH-^sft % >nt^ "SFT vjiqiq "5RTR "% "f^TT?
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( 4 )

^

(  *IK ) 2x4=8

(^) ̂  -jR ̂  ̂ ^nicr ̂  ̂  ̂

(^) ^ aiRr" — ^ ̂  ̂ ̂
cn?rf %?

(■r) w\ ^ ^ I? tft' cb(^di % airmR ^
"ddl^HI

(•4) "1^^ ^ f irft^ TTT^" ^ i^R!^ 3T^ l^TTO
1^ %?

(^) ^ # cIRI % 1^H?ut % ^TRpT ^ f ?

(^) ^ 3ft' ^RT % "d^, % -RRqir ^ ^iRdMdH "RcT ^ "^T?^ 1?

(15) 'tI^ ^ ^ ̂  ̂  W "I?

3. (^) ^ ̂  ^ 1R^ f ?

3T8raT

tr' sf^m ^ «rRT?f "sre^ "^tl^i

(n) cTR % 3|mK ^ «C1I^I< % ^lildHdH
MHddMI<{l ^ f I 4

3T«raT

'tr^ ^ ^ HRRT l^rf^i
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( 5 )

(7T) ^ ef?RT % ^ W «n? eI?RT % % ^ W
f%?r m? sft? 4

ararar

cT?RT % % 1R ^ ^ RRT ^ HfttlgRT
l^reRK ^ ferf^i

(^) cITcT 3^ 31T% t1li^4i RRft irSIT "^Rll ^? 3R% ■dr>H<. ^
3TRtqt ^ lefi^l 4

3T«raT

'^IH^' ^ '^m 'TRcRRT t 1%?r ^ ^ 7i| t?

(^) % 3;Tn^R 41 13^ % 4R 4

arsrar

"1^ ^ ^ H^b^rd ^ "RI^ 41 r)15R1 4R 1^1" ^ %n€t
5lld 3ftl i^i^T r«j)s9|c|^ cR^ 4| %?

(^) "iTlBinj^ 3TPR ^ ^ 44 4T4 *^3rRl?* tl" ^ 4544 ^
^tf^l 4

aT«I4T

11414 ^411 % aiidtdd % 414 41 ^ 1^ 4441 43^ %c4 ^ f?
1^ % 3TmR 41 w 4544 ^ ipftatn
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( 6 )

4

aroi^

sfk ^ ^ mm\ %? icrfei^i

(^) «ITOT ̂  4t 34«"ll*nn 31^ % 1^ 31^-
4^ 1^?3HT ̂  t? 4

3T8raT

"3RT^ "*R «ll>^, ^1^*1 i^RT "'^ 3TRI^
^cnim

4. (^) '3^1^ "itt' cb$i4) % aqrmR w: en^ ̂  «P)Pim 6

3T8raT

'•?n ̂  ^ -^TRm %i^i

(^) '5^ WRRt % ^ 1^ ̂  1^ "51^ l^fTI? '1^ -^t
stptW % srmR xr 6

arorar

"^sin "^n^ # s^xpft i^F^ft "f^r 1^ %
^ ̂8^ ̂tl^i

5. (^) ^ Tift^ 10

3T«raT

TPTf^Rfl^ spisq ̂  -flnhwsft ̂  ^tf^l

/155

( 7 )

(^) PiHfdR^d ̂  ̂ ^ tR "MBfiif

(i)

(ii) «<Wcf)

(Hi) ilH4d

(iv)

(v) 3T5®Fr

5x2=10

★ ★ *
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